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45+ (x+5)2 +(y=5)2 =245+ (x=5)2 +(y=5)2 25 ++/(x+5)% +(y—5)? =+/(x=5)2 +(y—5)?

20+ (x+5)% +(y—5)2 + 45/ (x +5)% +(y =5)% = (x=5)2 +(y=5)% ~/(x+5)% +(y—5)2 = —/5(x+1)
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215+ (x+5)2 +(y+5)2 =25 +4/(x=5)2 +(y=5)%  (x+5)% +(y+5)? = (x-5)% +(y-5)*
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25+ (x+5)2 +(y+5)2 =45+ (x=5)2 + (y+5)2  /(x+5)2 +(y+5)? = 2v5 ++/(x=5)% +(y +5)?

(x+5)% +(y +5)2 = 20+ (x=5)% +(y +5)% + 45,/ (x=5)2 +(y+5)% /(x=5)% +(y+5)% =5(x~1)

X2

——%:1(x>0) —®

x>1E LT (x=5)2+(y+5)?2=5(x-1)% 4x*—(y+5)?=20 .. 5

PUEO~O®L Y. ROBBEEFTS L FOEY, @, OERIHRO—ETH 2,

y
y=3x A
X’ (y—5)° (-39 (-5, 5)
5 20 ;
(-5 5)? "":jif”\':':i;?(?ff) (_5+4JR) 5_4¢R)J
y:2_(x+57° _ N 4 , 3 ' 3
5 20 et y=-x |
/ Ty e
{5—4@ —5+4\/EJ o 5
3 3 (s, —\5\)\%‘:‘:‘:’?:‘ _______
X*  (y+5)° 1
5. -5) 20




